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function [x,fval] = runnested(a,b,c,x0)
[x,fval] = fminunc(@nestedfun,x0);
% Nested function that computes the objective function
function y = nestedfun(x)
y = (a - b*x(1)"2 + x(1)"4/3)*x(1)"2 + x(1)*x(2) +...
(-c + c*x(2)"2)*x(2)"2;
end
end
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a=4; b=2.1; ¢ = 4;% Assign parameter values

x0 = [0.5,0.5];
[x,fval] = runnested(a,b,c,x0)
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Warning: Gradient must be provided for trust-region method;
using line-search method instead.
> In fminunc at 265

Optimization terminated: relative infinity-norm of gradient less than options.TolFun.

X =

-0.0898 0.7127
fval =
-1.0316






